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Square roots
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12.8+12.8 = 163.84

. 12=12 = 144
. 12+ 0.6 =96
. 12+ 0.8 =96

. 0.8 - 0.8 = 0.64

e T T I ey

Total = 163.84

[A sqow ard

Ordering and Approximating Square Roots

S-3=23 7.3 +-7.3=353.29

25 =5 \,53.2'9 =73

|:| Show perfect squares
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Function Involving Square Roots

CONTROLS || TAELE
PR .

y=ay x-h+k

y=z-\ix+2 +1 |

o —— 20|
by —— 10|

Ebﬂl‘lh‘l domain

al real numkbers areater thar or egual 1o —2

E Showm 1ance
al real numkers greater than or 2oual o 1 ’ — —_— —
| | |
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Roots of a Quadratic

i GOMTROLE L SOLUTION L TAELE REAL FLAME COMPLEX FLAME

y=ar+bx+c

y=x+2x=-3

Solution{s)to X+ 2x-3=0:

Xx=-30r 1

E Show diseriminant compuiation

Discriminant; b* —4ac= 16 E Show aziz of svmmetrr © = =223
|
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Exponents and Power Rules

Lesson Materials @ Projection Tip (Browser Zooming)  Standard Gizmo Features ™

[ Rewrtte with a single exponent {34]." -l l
g9

Usge the rule for raising a power to a power,

32t Multiply the expenents.

| KN

Solut o EtEEE drai the naxt sclution Se0 imo the windew above]

Gooc k! Chic: "New' 1o start a new problem.
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Permutations and Combinations

MOTATION
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[ smwiatre | | reser |

Mamber of lilez 0 Lox

21 Gz ®mz2 Q4 @5

Hamber ot craws fiom box

61 @z @3 O3 O3
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Solving Linear Systems by Graphing

LearnAlberta.ca

— STAHDARD l SLOFE-IMTERGEFT TRELE

y=mx+pb
® y=x+1 l|

O y=-2x+1 .|

IE Gheck solution atthe point
y=mx+h

(1) = o)+ 1 v

1=1

y - mx b

(1) = —2(0) + 1 v — —
1=1 '

(0, 11/s a solution 1o bath equations

afl .
Explorglearning

Linear Inequalities in Two Variables — Activity A

¥y> mx+h

y > 2x-3 m |

EEREEE
m*l z

E Show solution test

v 2x-3
-167 > 2(3.07) -3
167 > 613 -3 ,

—L6F = 3.13
[3.07 =16T]is Nt a solution. x
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Sine, Cosine and Tangent

=r4E | cozee | rteesent |

sin A= .oy

m LA |degrees)

+|m

m Shaw zide lanaths

URp =949
ADl=gE
HYF = <4

E Show sine computation

. OFP
sin 45 = ——
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ﬂ
L D Clickto measara enaths || Clizkto meazure 2nales
oroT ﬁ Frotracter arage 2447°
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Cosine Function

¥
| 2
¥=cos(0.50011) = 0.000 .| t
e
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Tangent Function

| | ~' =
y=tan(46°) = 1.036 m| 1 |
| | *
¥y X ) ¥ | | a
1 | -
I | "
L | | .
- X D -y=0e -dqoe EiT o2 E
I | =
I | ol
- - I | v
. | | .
() e———— 5. | | ;
® 0oarees  Radians 2
[ Snow recarense drianale [ Show surve ‘I tan 487 = :or;iEG“ = EZ;E: =1.038 |
|
Explnr.‘éfeaming . . J[E= 0

Absolute Value with Linear Functions — Activity B

\ GOMTROLS |

DATA ——
| flxy=ax+h |

finy=x+1
n*| 10

E Shaom w= flxl

y=x+1 l|
IE Ehow w = 1]z
y= X+ 1 .|
m Thamw = [r1x]
y=xt1] m|
x fix [ kN x| |
2. 1z0)r 1 20y ¢ Miz.0) ¢ -
c A I | |
| [ £how probe ‘ 20, =0 | 30 3.0 |
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Quadratics in Polynomial Form — Activity A

CINTROLE | THELE

| y=ar+br+c |

YEX+2x+1 l|

E =nowm vertax Znd irtarzepts
& wertex -1, 0)
& yintercept: 1
& cntercept(sy -1

[l snow vertas: trzil Ll sauw axis of symmetrs

Explor#feaming . . [T

Operations with Radical Expressions

[ a8 + 72 Add the radical expressions. = l

a2 + 72 Perfact square factor.

| KN

Salut o EtEEE drai the naxt sclution steo imo the window above|
4+9 I-I-]"'JI 4+ 2 E-I-?"qli

a-2vf3 +72 aonfo o nfz 472
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Arithmetic Sequences

. \ CONTROLE | THELE -
¢ ———— 10

m Show explicit formula
a.=a+in=14d
=0 +(n=1)(1)

E Show recurzive foimula

a=0 d.=d8,,.+d
=a, +1 ‘| |
I |
Explorsfearning . . (D=1

Geometric Sequences
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CONTROLE | TRELE
m—
ﬂ1+ 1.0 :
N
| ——— 13 & "
n ﬁ_ 10 . _
& r
4 o
2,=5.16 l| 1 .
[ ]
o
[ ]
2 - -
[ ]
mﬁhuw explicit formula ..:
a,=acr ’
n
L] [u] @
=j1.27" 7 B B 10
E Show recursive Tommula

a=1 d.=d,.*r

L =a,_*12 J IL J
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Logarithmic Functions — Activity A

COMTROLE || THELE .
| | Wi -
¥ = logdx) {

10 M

y=l0g:(x) . : .

a _l 20 & "
¢ +

m Show azsociated exponeniial 2 2

_||'=2' .| ___.-F""'J b4
m Show line r ==
Vy=x l|

1
S
|
5]
1
F
5]
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o
a1}
[
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[
o o+ 1

[[Jsnow probe
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Exponential Functions — Activity A
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COMTROLE | RELE

| y=a*h" | =] a
y=2 .| & +
a * 10 4 _
I _| 2.0 2 -:
= +
& -4 -2 4 & g
E Shaw praobe 1 -
|
-4 —+
2 4 +
_6 o
IE Show v-walue calculation -
y-as*h T8
y=1-2
y=1+4
v=4 '
._ | |
Explorsleaming : : Em
Unit Circle
By =cos(B) = ¢05(55") = 0.5736
20
f EEEEEEE] |EEEE 55°
¥y X ¥
|
a
1 L )
L]
|
; i 1210
] -1 10
& (0574035
f
IE Show reference triangle 20
{2 o fimction, i) shovw omve
i) sine
i) cosine W degress

Pyramids and Cones
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| Shape of base | o
[Triange |LI
Base edoe
ﬂ 10.0
Halant

E Sa0w pwramicieon: wolume

V= 10536 unis*

[ =now arza ot pase
A= 4373 unns®

IE Show prismfcrlinder
V' = 316.00 units®

L @ Dragto rotate (2 Drag to shew )

Explorsfearning : : 3[e-]a[0)]

Modeling the Factorization of x* + bx + ¢

| Factor the polynemial: | | |
X+Ex+5E

Widtn: x+E
X 11111

“ou have sucoessfully modeled
the pelynomial.

[=/[=)

1.3 Now drag tiles fram the left
bowxirte the right 3ex and
arange them into a solid
reclangle

2. Click 'Contnue' wben vou
ale donz.

Haght =«-1

I Ml I I Continue l |

Explorfeaming . : 3| i8] )

Bisectors in Triangles
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EEQMENT If AHOLE |

| Constraint on pairt -

Foirt G onperpendiculsr |
bizector of s=gmert AR

IZ Show dizancez fram acint © 1o
endavirts of saoment 48

[C1 Trace motion of paint G
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Binomial probabilities

v i CORMTROLE L CALCULATIONE . TREE DIAZRAM EAR GRFFH

Mumber of trials |
n _ z
F[Suceess)

F(Failure)

FiF) =———— 050

[ sutomatically zoem he tree

Explorifearning . . J[3 =0

Probability Simulations
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|[ Mumber of spinnars: @ @ =z Trial @ 2 @-2
| 4 4 2 =]
0531:5:":5 +‘ E | u & 2 Mz
Nesnber h

O @EReEAEE 2

Favorable ouicome ; e =2
o]
(o [_ctear wiate_|
Aczual Zwpzr metal
x Evert outcomes | probakil ty
| 0
| ' P e' 2) 0 < - 0%
2
Irial 2:  Notaftavorable oufcome since 6 1s Finm e' 2) 2 T = 100%
not equal 1o 2.
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